Autumn Test 2

1 =10X0 2| 72+1=

3| 7?= q | 1=06+

5 8 X 600 = 6 33

7| >+12= 8 =121

O |40X10= 10| 63 = X9

1 ;__1_: 12 =932 X100
5,2 _ _

13 ?4— 3= 14 20 X = 2000

15| 291 +10= 16 | 36 - =9
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Autumn Test 2 (continued)

17| 0-5-= 18| 8420+ 5=

. o
19 = 500 — 371 20| °77

o .
21| « ’ ; g amai | | Q2| 4X = 9324

- . o

23| 6[1475 24| 801 — = 428

o o
25 ~614=7 26| 66+78628 + 519 =

o &
27| 4888 = — 3741 28| x 93;? 2 marks)

o .

[Total marks I30j

How well did you do? [+ with correct place value 26
Colour the numbers of the — with zeros 19 | 24
queshons you gOt corredt. + or x by 10, 100 or 1000 1 9 12 1 14 | 15
Long x 21 | 28
Fractions 7 ml1 |
Missing numbers 4 8 10|14 |16 |22)24] 25| 27
+ 7 13 | 26 | 27
- 4 n 17119 | 24
X 1 3 5 6 9 12 1 20| 21 | 25 | 28
+ 2 8 1011415161822 23
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